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ELECTRICAL ENGINEERING

PAPER-II

1. A pure inductor has power factor of
(a 1 (b) 1/\/5 ¢ 0 (d) None of these

2. A series RLC circuit resonate at 200 Hz. If the capacitance is increased to four times, the
circuit will be in resonance at
(a) 100 Hz (b) 200 Hz (c) 400 Hz (d) 800 Hz

3.  The voltage phasor of a circuit is 10 £15° V and the current phasor is 2£-45° A. The
active and reactive powers in the circuit are

(a) 2072 W and 1002 VAR (b) 10 W and 10n/3 VAR
(¢) 5W and 5\/3 VAR (d 10~/3 W and — 10 VAR

4. In the circuit shown in the figure, if the power consumed by the 5 Q resistor is 10 W, then
the power factor of the circuit is

5Q L 10 Q
MV TPV ——WW

<~ 50 sin ot (V)

(a) 0.8 (b) 0.5 (c) 0.6 d O
5.  Resistance between terminals A and B of the given figure is
R R R
A AV A AA MWV B
VYRS
(@ 3/5R (b) 1/5R ¢ R (d 2/5R
6. In the given circuit, Thevenin voltage across the terminal AB is
1Q 1Q
—T—=O—WA—o+A
10V
10V 1 § 10
o—B
(@ -—-15V (b) 15V c) 5V d o0V

7.  Calculate the value of load resistance R; to which maximum power may be transferred
from the source shown in figure

40 Q 60 Q)
MWV AWV A
120 V= § 200 § Ry
B
(a) 33.730hm (b) 60 ohm (¢) 73.33 ohm (d) 100 ohm
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FoIFEIeheT ST

w11
1. U 35 Uk I IR 0T Bl &
@@ 1 (b) 1A[2 © 0 (d) =T § HE T
2.  U% RLC #vff aRue # 200 Hz W AR eIl & | 35 30 uRkay & Heiia s =R 1 o fear
ST, dF aRae AT | B
(@ 100HzW (b) 200HzTW  (¢c) 400 Hz™ (d) 800 Hz™

3. U UNUY W afeedl Bl 10 £15° V & 97 9RT B 2/-45° A € | GO § §ishd qur
PINIERINIGRCapE

(a) 20\2 W a1 10/2 VAR (b) 10 W& 101/3 VAR
(c) 5 W@ 5\3 VAR (d) 10\/3 W - 10 VAR
4. Too ¥ fgE@ ™ aRue ®, afs 5 Q ufeRiy 511 fastelt 6t @ud 10 W €, ot aRaer 1 91 o7 &
5Q L 10 Q

MN—TTT—MWWW

<~ 50 sin ot (V)

(@ 0.8 (b) 05 () 0.6 d 0
5. T fox 9 2fE=e A 991 B & " afaiy ©
R R R
Ao NNV AVV NN o B
‘V\A,R
(@ 3/5R (b) 1/5R (c) R (d 2/5R
6. T T uftuy |, 2fimer AB & s e aiees &
10 1Q
—OF—MWA—o+A
10V
IOVt §1Q
o— B
(@ -15V (b) 15V () 5V d 0oV
7. R aUE Ry % A S B (0 o 7 59 T A W SO sk i SR 8 W |
40 Q 60 Q
A% AN A
120V = §209 Ry
°B
(@) 33733 (b) 60 AW (c) 73.33 W (d) 100 31H
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10.

11.

12.

If the T and T circuits in figure below are equivalent, then R, R,, R, respectively are

16 Q R, R,
o MMV © o—AAMWN—T— WWN—0
240 $240 IR,
@ 909,6Q,6Q b)) 69Q2,6Q2,9Q
© 9Q,6Q2,9Q d 6Q2,9Q,6Q
Find the value of ‘I’ in the circuit.
6Q
AWV
1
@ 3 Volt §9Q <1‘ 2 amp
(a) 2amp (b) 3 amp (c) 4amp (d)
The current in the R = 10 Q resistance in the circuit below is
20
MWW
10 Q 4% § R=
100 — 10V
20V T
@ O0A b)) 1A c) 2A (d)
In the circuit below, the current through E, is
R R
AWV AN
p— I] =5A — IQ =4A -
El-[ EZI E3]'
(a) 9 A discharging (b) 9 A charging
(c) 1 A discharging (d) 1 A charging
For the circuit of the given figure, the value of current I is
6Q 6Q
NV j_ AV
6Q 12V 6Q
T |12 A\
I I
6Q 60 6Q
ANV M
6Q 6Q
(a 1.0A (b) 0.75A (c) 05A (d)
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8. = swid W o # Afs n wd T ooy F9ed &, @ R, R,, R, 51 &1

16 Q R, R,

[~ VW 0
24 Q % % 24 Q %R3
(e 0 o 0

@ 9Q,6Q,6Q(0b) 6Q2,602,9Q (¢c) 9Q,6Q2,9Q (d) 6Q2,9Q,6Q

9. URUA H YRT ‘I’ & HH I HISTT |
6 3|

O §9aﬁn (M) 2w

(a) 2Tm. (b) 3w, (c) 4Tm. (d 1tum.
10. == f@ ™ aRog § R = 10 Q o1et Ufay § 9N &

2Q

AMA
10§%_ R 1
10Q =10V

2OV'|'

@ O0A (b) 1A © 2A d 3A
11. == & T aRkag # B, # 78 areit 9w &0

EIT E{ E;[

(a) 9 ATe=nm (b) 9 A =T (c) 1A Temntem (d) 1 A =i
12. To ¥ 390 faga uiuer & &7 161 919 &
6Q

6Q

MV j_ MV
69% 12\/-|' %69
I12V

I I
6Q 60 6Q
AN\ AAYAY

6 Q 6Q
(a 1.0A (b) 0.75A (c) 05A d 025A
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13. The electrical energy consumed by an appliance of power rating P watts connected across
its rated V for t hours is

Pt Pt
(a) P/V .tkWhr (b) 1000 kWhr (¢c) PtkWhr (d) 3600 kWhr
15Q
14. Lo
_WV_
A 1Q
o—AM—
_IW\,_
1Q
Equivalent resistance between A & B, in the figure above is
(a) 1.875Q (b) 2.875Q (c) 053Q (d 2.125Q

15. Norton equivalent of the circuit given below is
30

MW
3Q 6 Q2
20V 10V
9Q 5Q
M M
@ ®3ov ® ®iov
© (Giov 35Q @ @®2a 350

16. In the given circuit, inductances L, and L,, if L, = 2L, and Leq 1s 0.7 H, are

L,
o Leq >
(a) 0.4 H and 0.8 H respectively (b) 0.6 H and 0.3 H respectively
(c) 0.8 Hand 0.4 H respectively (d) 1.0 H and 0.5 H respectively
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13. TS U i [T Sl @Ud, STaish STeh! Ik WHish P a1e & 37 36 IHeh! =i aiees W t
T & feTw oI ST, gRi

Pt Pt
(a) P/V tkWhr (b) 1000 kWhr (¢) PtkWhr (d) 3600 kWhr
14. 150Q
10
——AA—
A 1Q
—A—
L AA—]
10
FW 52 T fo o A X B % & SHded Wiy &
(a) 1.875Q (b) 2.875Q (c) 053Q (d 2.125Q

15. = 53 7 uRaer 1 AR IEded |

3Q

A
3Q 6Q
20V 10V
9Q 5Q
M VWA
@ ®3ov ® Giov
© (v 250 d) M2a 350

16. & 7 Awe H, IR Ly AR Ly, AW Ly =21, 3R L, 0.7 HE &

L,
05H
Leq
(a) 0.4 H 3 0.8 H HAER (b) 0.6 H 3¥ 0.3 H HAMER
(c) 0.8 H 3 0.4 H HAMaR (d) 1.0 H 3 0.5 H AaR
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17.

Vs

Thevenin equivalent of the above circuit will be

R,+R,
@ Vs O ® Vs O

R;+R,
© Ve O @ Vs O

18. In a six pole motor, 4 mechanical degrees is equal to
(a) 4 electrical degrees (b) 2 electrical degrees
(c) 8electrical degrees (d) 12 electrical degrees

19. An ideal synchronous motor has no starting torque because the
(a) Rotor is made up of salient poles.
(b) Relative velocity between the stator and rotor mmfs is zero.
(c) Relative velocity between stator and rotor mmfs is not zero.
(d) Rotor winding is highly inductive.

20. Ata slip of 4%, maximum possible speed of a 3-phase squirrel cage induction motor is

(a) 2880 rpm (b) 3000 rpm (¢) 1500 rpm (d) 1440 rpm

21. If the stator winding of a three-phase induction motor is delta connected, the rotor winding
(a) should be delta connected (b) ' should be star connected
(c) should not be delta connected (d) may be delta or star connected

22. Synchronous motors are to be used in situations where
(a) The load is constant.
(b) The load is required to be driven at very high speeds.
(c) The load is to be driven at constant speed.
(d) The starting torque requirement of the load is very high.

23. When excitation of synchronous motor is increased upto normal excitation from under
excitation, armature current
(a) increases (b) decreases
(c) remains constant (d) None of the above

24. In a synchronous motor, damper winding is provided to

(a) stabilize rotor motion (b) suppress rotor oscillations
(c) develop necessary starting torque (d) (b) and (c) both
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R
17. >
1Ql

£t

W T3 T3 uRuer 1 gEtE gudes 8

Ri+R,
@ v%O b VO
Ri+R,
I Rk
© VO @ Vg2 O
18. US T gd AKX H, 4 AltAh el R &
(a) 4 T et & (b) 2 forrda feult &
(c) 8o fetht (d) 12 e foht &

19. U 3TEY qodehlell AT H g RITH goT el BlaT, i
(a) X Aferdic Gl A ST AT |
(b) X 3R WX % HeA mmf T THeT T I el & |
(c) T 3R WX & 7ed mmf Fi et 1 I T&l et € |
(d) e FUSH 31T Iehed il ¢ |
20. U oot fisRy IR wie st atfean Gwifad i gt stefe fhaer 4% ¢
(@ 2880guMm. (b) 3000g¥mM™.  (c) 1500 Fuf. (d) 1440 9u.

21. 3T -3ea IR0 HieX i TeX HUgel Soel H 5L ¢, a e Fusel

(a) oo B S[El el =en | (b) TR H S[El e =T |

(c) T=I1H STE T8l el =fey | (d) =T A1 =R Bl off R H STet e wiEy |
22. TEIAHCA HICT B SYANT 3T (AT T FHaT ST &, STet

(a) YRTERE |

(b) YR I FEA 31T T T eI hI SEATTHAT &l |
(c) YR &I f7ae a9 =A™ i SAergaehan & |
(d) ¥R = STRE TA-STET Sl TR TGl 39 &l |

23.  ST& qoIHIel I S TS T SUSH & | SToT s I@Tal Sl &, a9 ST €RT
(a) AT | (b) =SHE |
() TerRwds | d) T F FIE Tl

24, U oAb AT 1, THR U Bl &
(a) OIS T T BT TR FA & foTT
(b) =V et N THA FA o foTT
(c) 3ToRTH RN TATY! 4= H o [T
(d)  (b)@= (c) T
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25. Direction of rotation of three phase induction motor can be reversed by
(a) interchanging connections of any two phases
(b) disconnecting any one phase
(c) (a)and (b) both
(d) None of the above

26. Variation in dc excitation of a synchronous motor causes variation in
(a) Speed of motor
(b) Power factor
(c) Armature current
(d) Both armature current and power factor

27. Reduction in supply voltage by 10% will change the torque of an induction motor by
(a) 38% (b) 19% ©) 9.5% (d) No change

28. The step angle of the stepper motor is 2.5°. If the stepping frequency is 3600 pulses per
second, then the shaft speed will be
(a) 144 rps (b) 3600 rps (c) 2571ps (d 25r1ps

29. A 3-phase, 50 Hz, 500 V induction motor develops 20 hp at slip of 5%. Mechanical losses
are 1 hp, and stator loss is 1 kW. The efficiency will be

(@) 95.3% (b) 90.5% (©) 91.3% (d 85.3%
30. The electric motor used in toys is

(a) capacitor start motor (b) split phase motor

(c) shaded pole motor (d) None of these
31. AC servo-motor is basically a

(a) Capacitor motor (b)  Two phase motor

(c) Three phase motor (d) Universal motor

32. Crawling in an induction motor is due to
(a) Space harmonics produced by winding currents.
(b) Time harmonics in supply.
(c)  Slip ring rotor.
(d) Insufficient starting torque.

33. A shaded pole induction motor does not have the advantage of
(a) Rugged construction
(b) Low initial as'well as maintenance cost
(c) High starting torque
(d) Comparatively small starting current

34. In three phase 400 volt, 50 Hz supply, the phase to neutral voltage is

(a) 220 Volt (b) 230 Volt (c) 440 Volt (d) 150 Volt
35. Integration of unit ramp function gives

(a)  Unit parabolic function (b)  Unit ramp function

(¢)  Unit doublet function (d) None of these
36. In house wiring, Black & Green wires indicate

(a) Earth & Neutral respectively (b) Phase & Neutral respectively

(c) Phase & Earth respectively (d) Neutral & Earth respectively
37. Ferranti effect on long overhead lines is experienced when

(a) the line is highly loaded. (b) the power factor is unity.

(c) the power factor is leading. (d) corona effect is dominated.

38. A 10 kVA, 400 V/200 V, single-phase transformer with 10% impedance, draws a steady
short circuit current of
(a 50A (b) 150 A (c) 250A (d) 350A
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25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

T et IROT HieX & g i TG uiafaa st ST Febel &
(a) Tl < Sotl & TS i SFAaRald Hieh

(b) TRl T Ut o ASH I BT

© (@)

(d) SR 9§ B Tl

TS qoashTel! HieX & .81, S § uRacH & HRoT 5 § aRaa g

(a) T H A | (b) e o |

(c) =R 9RTH (d) 3THeR &R qem AR TOTeh S o

TATS alfeest § 10%  FHH! 3T U UR0T /i 6 A0 H S8eTd e

(a) 38% (b) 19% () 9.5% (d) T ¥ T

Tsh TR e N LY 0T 2.5° € | g LU 3mgfa 3600 TS Ui Yehvs &, af I i i et
(a) 144 rps (b) 3600 rps (c) 251ps (d 25r1ps

T Breett, 50 Hz, 500 V IR0 A 5% et W 20 hp foepiad et € | gites e 1 hp &
qAT W R 1 kW & | o7l &y

(@ 953% (b) 90.5% © 91.3% d) 85.3%
et H vgert g aett forle Hiex &

(a) T TR HieX (b) farwer Wt HieX

(c) WIS Yd "X (d) T 9 B T

T A, Fal-HI g 9 F & TH
(a) WIRFTARY (b) F-FAFARY () BAFA@ AR  (d) JHIGA Tl

TOT HieT | T 1 HROT &Il &

(a) FUSH! 9T W 3T WH gHiAE (b)Y H FHA STHIHT T HT
(c) @t =TT TeX (d) TR SR ot

Tk DI g UR0T AT H i & AT @i el 2

(a) S FeoT (b) T IR T TEEE AN
(c) = URNI Fof (d)  3TURTFHA HY TRNTEH €RT

T et 400 atee, 50 Hz TS &, sl | =42l o aid oSt gl

(a) 220deT (b) 230 e (c) 440 dieT (d) 150 3=
(e T Fo & THIREH 9 T Bl &

(a) e WEies wer (b) FME T wem

(c) JHe SIeie Hom (d) TH I PE @&

HY Sl SR | Shiel T &4 A ST el &

(a) 37 TqAT A A (b) ST AT T THATT:

(c) ST 9T 3T SHAST: (d) —ggeT qe 31 SHE:

T SEREE ST W R U Ieterd gian &, af

(a) TIETWIR FHE | (b)  IiRT TUTI TS & |

(c)  IfeRT T]UTIeh STRTIE & | (d) SR YT B THET & |

T 10%kVA, 400V/200V TSheT-hell ZEHHET STEeh! Ufaamer 10% €, s fer ofg aiiwer an
(a) 50 A& (b) 150 A =t (c) 250 A = (d) 350 A=t
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39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49.

50.

S1.

52.

53.

54.

Kick fuses are used across relay coils to prevent relay operation during

(a) Heavy external faults

(b) Inrush current of transformer when they are energised

(c) Line to ground faults
(d) Bolted faults

For a fuse wire of diameter ‘d’, fusing current is proportional to

@ /d

(b) d'? (©)

di» (d) None of these

Differential relays are used for the protection of equipments against

(a) Internal faults (b)
(c) Reverse current (d)

Over current
Reverse power

A 3-phase circuit breaker is rated at 1250 A, 2000 MVA, 33 kV, 4s. Its making current

capacity will be

79 kA (d 69kA

Open the circuit
Prevent excessive current

33kV,11kV,3¢
None of the above

Voltage rating of relay
Watt rating of relay

An integrating circuit
A transistor switch

2.5 times of oil
None of the above

(a) 35kA (b) 89kA (c)

Main function of the fuse is to

(a) Protect the line (b)

(c) Protect the appliance (d)

Distribution voltage levels in India are

(a) 11kV,400V,3¢ (b)

(c) 220kV,11kV,30 (d)

By burden on the relay, we generally mean

(a) Current rating of relay (b)

(c) Volt-ampere rating of relay (d)

In a static over-current relay, inverse time characteristics are obtained by
(a) A differentiating circuit (b)

(c) A transistor amplifier (d)

At atmospheric pressure, the dielectric strength of SF, is about
(a) 2.5 times of air (b)

(¢) 2.5 times of vacuum (d)

Mho relay is

(a) current restrained current relay.  (b)
(c) current restrained directional relay. (d)

Main purpose of oil in OCB is to

voltage restrained directional relay.
voltage restrained current relay.

provide cooling of contacts
None of the above

Which of the following circuit breaker is generally used in railway electrification ?

Minimum Oil circuit breaker
SF6 circuit breaker

Line is on full load
Can be operated under any condition

The transmission line feeding power on either side of the main transmission line is called

Secondary transmission
Primary distribution

10 kQ d 15kQ

Resistance of the conductor

(a) provide insulation (b)

(c) quenchingare (d)

(a)  Air Blast circuit breaker (b)

(c) Bulk Oil circuit breaker (d)

Isolators are used for disconnecting a circuit when

(a) Line is energised (b)

(c) Line carries no current (d)

(a) Secondary distribution (b)

(c) Primary transmission (d)

What is the approximate value of average resistance of a human body ?
(a) 1kQ (b) 5kQ (©)

The skin effect of the conductor increases the effective value of
(a) Inductance of the conductor (b)

(c) Capacitance of the conductor (d)
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39. foreh IR Rel SRVOTCR i =M & forw et Foeferdl o 3TR-UR foheh WISt o1 I fefam ST & 9

(a) 9 ST (b) TR i dE GRT 5T I8 Hiod & |
(c) g § STHIA T 31 (d) s I

40. U ‘d’ A & HT AR B FHT gRT ST 8l §
(@ ~[d¥ (b) d'2% ) d'5% (d) T 9 HE T

41. fewiforaet et =6 van frafafad & foeg Suetol = geem g ear e
(a) oTARE Y (b) IEF U (c) TawRa ¥w (d) fawa wfe

42. T3-Sl qROY fermsees ot AT 1250 A, 2000 MVA, 33 kV, 4s &, o 38! AT 9rT &

&TTT B

(a) 35kA (b) 89 kA () 79KA (d) 69KA
43. IS H GF HE BT

(a) AT I G HA | (b) UG B e |

(c) SUHIUT ST F&T HAT | (d) oTcatyes ToRTenRT ol AT |
44. RA ¥ TRy foeron fof Acesti W T ST & 2

(@) 11KkV,400V,3 ¢ (b) 33KkV,11kV,30

() 220kV,11kV,3¢ (d) T 9 @i T
45. o1 W e 9, AR O ART AT BT

(a) Tt ot foRpaemy =t e (b) e &l awest &t e

(c) el =l dice-uieR &t et (d) Re =l afe e
46. TH T HA-HE Rt § SohH THA SHAERIUTR bl 9T To6m ST &

(a) o feskiemuien oy & (b) T Efeuien uiud ¥

(c) U TR vads 9 (d) UH R fE= 9

47. TgHVSAE 1 W, SF, o WIagd e o &
(a) Brrégﬁz.sw(%) FAT25T  (¢) FEET25TM (d) TH 9 HE T

48. wWIRAE

(a) W%@%’Wﬁﬁ (b) TSt T A e
(c) e T8 SRR et (d) dieRs W e et
49. OCB ¥ et T q&F 33399 &Il &
(a) T & fog (b)  TTIHT I TSH UG B H (07T
© T T T 7T (d) =T | FIE T
50. =19 9 o 91 92 foesseh QERIEET Io7e fagisheor | JaT o6 ST € 2
(a) TR =< 9 [a=3h (b) THYT Ee U
(c) o 3iaeT 1Y T (d) SF, w foresseh
51. ToowTeR! 1 SUAIT URuY i fates~ & § ad o ST €, ST
(a) oA ST 8 | (b) T IR WA |

(c) A H fogaemr F&l yeeq el i &l | (d) TRt off ufifeafa & SuaiT oY Oehd € |

52. T HEROT % AT AR W GiaY Tt s oot Seor St el STl &
(a) TgaEs oo (b) GdEe T=RoT (¢) WEHE EEROT (d)  wnefHes faaron

53. U Od YRR I A Tierie oo fohe gl & 2

(a) 1kQ (b) 5kQ (c) 10kQ (d) 15kQ
54, Todr =ToTeh o1 feh ovre 11 9 Tohdeh Usielt |1 &l @ & 2

(a) eI T Uehed (b) =TT T Wiy

(c) =TeTeh S LTar (d) T I HE T
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55.  Which portion of the transmission system is more prone to faults ?

(a) Alternator (b) Transformer

(c) Overhead lines (d) Underground cables
56. The insulation strength of EHV lines is mainly governed by

(a)  Switching overvoltages (b) Lightning overvoltages

(c) Power frequency overvoltages (d) Dynamic overvoltages
57. Pilot relaying schemes are used for the protection of

(a) Bus bars (b) Transformer

(c) Instrument transformer (d) Transmission line
58. The restriking voltage is measured in

(a) RMS value (b) Peak value

(c) Instantaneous value (d) Average value

59. In an n-bus power system, considering n-nodes network, the size of y, . is

@ m-1)xm-1) (b) (m+1)x(m+1)
(c) nXn (d) 2nx2n

60. Which fault gives rise to symmetrical fault currents ?
(a)  Single line to ground fault (b) Line to line fault
(c) Double line to ground fault (d) Three phase fault

61. Typical solar cell efficiency is

(a) Lessthan 5% (b) 12% t025% (c) 30% to 40% (d) More than 50%
62. India receives solar energy in the range of

(@)  5-7 kWh/m? for 300-330 days in a year

(b)  50-70 kWh/m? for 300-330 days in a year

()  5-7 kWh/m? for 200-230 days in a year

(d) 50-70 kWh/m? for 200-230 days in a year
63. Biogas comprises mainly of

(a) 60% oxygen and 40% carbon dioxide

(b) 60% oxygen and 40% methane

(¢) 60% methane and 40% oxygen
(d) 60% methane and rest carbon dioxide

64. Global warming is mainly due to
(a) Emission of heat from engines
(b) Emission of CO, due to burning of fossil fuels

(c) Use of nuclear energy
(d) Air pollution

65. The possible site for Geothermal energy extraction for the purpose of electricity in India is

(a) Madhya Pradesh (b) Kerala
(c) Tamil Nadu (d) Assam
66. Horizontal axis and vertical axis are the types of
(a) Nuclear Reactor (b) Wind Mills
(c) Bio Gas Reactor (d) Solar Cell
67. The Fill Factor of a silicon solar cell is approximately
(a 1 (b) 0.7 (c) 0.5 (d 0
68. Major share of power generated in India is through
(a) Thermal Power Plants (b) Nuclear Power Plants
(c) Hydro-electric Power Plants (d) Solar energy

Series-A 14 KAU-08



55. GEROT T I B T A HOT I {OTT AT G Biar & 2
(a) TR (b) TEHTR (c) PRUR @ (d) i et

56. EHV TTEAT o 39 o g1 &9 § iR gl &
(a) feaferT siereteest g (b) dfed sTeRACeST FRT
(c) TUER oTgha sfierdieesT g1 (d) TIaRieT SfeRaieesT gRT

57. UFeIE oS @R Toheeh s o fofu wai Bt & 2

(a) FTTIR (b) TEHTR (c) UM TEHHT  (d) TOROT AR
58. U-LITERT dleest ATt ST &

(a) SIRTHTE A9 H (b) PEraEd

(c) aTeITR A H @ AaaEEd
59. UH n-99 "o (9 H, n-AIS A2eeh W S, y, S 3T B

(@ (m-1)xm-1) b)) (m+D)xm+1)

() nXn (d) 2nx2n
60. ﬁ?mw&wﬁqﬁmﬁqgﬁmw%? .

(a) THA Holl YIS (b)  Tgehett oTgaer

(c) 5ot s uew (d) FrepeT oTeme uRiy

61. U fqedl Hio) Uol i <&l &
(a) 5% T FH (b) 12%%¥25% (¢) 30% 9 40% (d) 50% 9 3t

62. YR U U B aTelt G 3T bl W
(@ 5-7kWh/m2, 300-330 G @ a0 & (b)  50-70 kWh/m2, 300-330 &7 Ut a9 &
() 5-7kWh/m2,200-230 G @ a9 & (d)  50-70 kWh/m2, 200-230 {57 e a9 #

63. TN H =T w7 ¥ Aiwfed €
(a) 60% ST T 40% e SRS
(b)  60% IS T 40% HI=
(c) 60% BT AT 40% AT
(d) 60% BT 3R AT HTa SEIAHIES

64. T ST T I BRI &

(a) 5T §RT ST 1 Ieas (b) = STERH ge % Ste d CO, 1 Seqsi
(c) NI FoTl BT WA (d) @rgugE

65. Y-ATIR STl T Taed & FehuuT e o feld i | S7Te 9Ra § T9d § 2
(a) T URH (b) A (c) drHerTg (d) Em

66. &St o787 SR T 3787 [k UHR & ?
(a) TR RuET (b) 9o et (@) (¢) @ Ruger (d) IR aA

67. THIcToh Hio” Ued o1 el thefed oFTST 81Tl &

(a 1 (b) 0.7 (c) 0.5 d 0
68. RA T TosTell SeUIE 1 TT f6ar sh gRI ¢

(a) g forera Gt (b) TRHI] FIT A

(c)  o-ferstedt fereger Wit d) "Rz
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

Match Lists L-I and L-II below, in respect of India’s installed capacity of non-
conventional energy, as on date.

L-1I L-1I

1. Solar Power A. 2800 MW
2. Wind Power B. 3063 MW
3.  Bagass Cogeneration C. 1365 MW
4. Biomass Power D 22,465 MW

1 2 3 4
@ A B C D
(b) B A C D
co D B A C

@@ B D A C

When a body reflects all the radiations incident on it, then the body is known as
(a) White body (b) Grey body
(c) Black body (d) Transparent body

A diesel power station spends 0.25 kg/kWh fuel. If the calorific value is 10,000 kcal/kg
then overall efficiency of the power station will be

(a) 25% (b) 30% (c) 34.4% (d) 100%
Admittance is the reciprocal of
(a) Impedance (b) Reactance (¢) Susceptance (d) Inductance

An inductor at t = 0% with zero initial conditions acts as
(a) shortcircuit (b) open circuit (c) currentsource (d) voltage source

In the circuit shown, if we connect a source of 2 volt with internal resistance of 1 Q at
AA’ with positive terminal at A’, then the current through R is

1Q
AM o A’
CT 1A g]g %R:ZQ
o A

(a 2A (b) 1.66 A c) 1A (d 0.625 A

Which of the following statements pertains to resistors only ?
(a) They oppose sudden change in voltage:

(b) They can act as energy storage device.

(c) They can dissipate desired amount of power.

(d) None of the above.

What is the maximum number of points of light, fan and socket-outlets that can be
connected in one sub-circuit ?

(@ 5 (b) 10 () 20 (d 30
Minimum distance of underground cable from the foundation of building should be
(a) 100 cm (b) 50 cm (¢) 10cm (d Scm

Official systemetic, scientific study of energy consumption by the related organisation for
cost reduction and energy conservation is

(a) energy policy (b) energy audit

(¢) (a)and (b) both (d) None of the above

The type of wiring that is highly suitable for a temporary shed is

(a) Cleat wiring (b) Wooden capping and casing wiring
(c) Lead sheathed wiring (d) Conduit wiring
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

YRA Sl TR-GLRTTA il bt 37T e T &7 o ufedet § ol L-1 3R L-11 § fae $ife

L-1 L-1I

1. 9w A. 2800 MW
2. Uo I B. 3063 MW
3. 9 HISEE C. 1365MW
4.  IEEE A D. 22,465 MW

e U fUUg Gt SAEiad fefehiol sl qeiad e < &, af UUe el &
(a) WU (b) WA TOUE  (c) I fuvs (d) UREET TUvs

T SIeT TR LA | 0.25 kg/kWh $89 =59 €Il & | 3g 269 1 19 99 10,000 keal/kg €,

T Ifa WA I FoT eIl F

(@ 25% (b) 30% (c) 34.4% d 100%
TEAT (VSMHe~T) THehT SFhY &I € :

(a) WiqaTer (3re=) (b) e (Ruge=)

(c) 3MyehHicd TAIvIT () (d) WFA (TTF)

TRTRT 3T I i 90 H, t = O0F U Ueh Ueh 37 UK T I ¢
(a) oY URU" (b) el Uk (c) ToRpaemy & (d) fovra &g

T 7Y 9RO |, IS B0 AA’ & e 2 V 94T SAeh Uiade 1 Q &1 i o ST9eh! eeqes
et A7 W E, O R | 9RT en

10
AN o A’

1A g‘ﬂ §R=ZQ

° A

(a 2A (b) 1.66 A () 1A (d)  0.625 A
T | ST 91 Shdel Uil o AT g2

(a) o & AW INET I OXE FLd & |

(b) & T HEROT GfoRTal & &0 H 1 B © |

(c) 3 aiifed Ve T &1 T Tl & |

(d) SR H 9 BT TRl

T ST-URTY H ST ST Tehe aTet TehIeT, TG T Hiche & fargeii oht tferehes Team o1 € 2

(@ 5 (b) 10 (c) 20 @ 30

ferdd e o <ifer & YT hieret bl 9 A HH A el wIiey

(a) 100 T=Y (b) 50 T (c) 1034 (d) 594

T FH B T ol G073 oAU, Wit TS gRT {eha T SMehiieh TRuTeg, Sk 3Tea &
(a) ol AT (b)  Sif Wi

(c) (a) T (b) T (d) TH I PE @

T U o TeIu Hefifurss o amafer s 9t gl & 2

(a) Il aENT (b)  TTHE! I KU TAT HIGT FTAT AR

(c) dE vitge amfaT (d) gz aEf
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80.

81.

82.

83.

84.

85S.

86.

87.

Current i, in the figure will be

/=4mp
>. N .
i,=2.5 amp \ iy

i3 =2 amp

(a) 13 amp (b) 0.5 amp (c) 4.5amp (d 8.5amp
Find power absorbed/delivered by 120 V source.
300 | 30V
AV e [ Lo
+
120V = § 150
(a) 120 watts (b) 240 watts (c) 2 watts (d) 1 watt
In the circuit, Vg is
20
+
Vs _C) +
4028V
(a) 8V (b)y 10V (c) 12V (d 16V

The characteristic equation of the series RLC circuit is

A
T

(@ S?+(@LC)S+R/L=0 (b) S2+(1/LC)S+LR =0
() S?+([L/R)S+LC=0 @ S?+@®R/ML)S+1/LC=0

C

A network has 10 nodes and 17 branches. The number of independent mesh equations
required to solve the network is

(a) 7 (b) 8 (c) 10 (d) 45
Which of the following elements is not bilateral ?
(a) Resistor (b) Inductor (c) Capacitor (d) Transistor

Each branch of Y-connected load has resistance of 10 Q. The resistance of each branch of
an equivalent A-connected load will be
(a) 30Q (b) 100 Q (c) 110Q (d) None of these

In applying superposition theorem, to determine branch currents and voltages
(a) all current and voltage sources are shorted.

(b) only current sources are open circuited.

(c) only voltage sources are shorted.

(d) voltage sources are shorted and current sources are open circuited.

Series-A 18 KAU-08



80.

81.

82.

83.

84.

85S.

86.

87.

o= W 4R i, T AW B

i =41
N
iy=2.5wm \ i
iy =21,

(a) 13 Uum, (b) 0.5Tm. (c) 4.5um, (d) 8.5um,
120 V &I 51T Me/ses SerT 3 shitsTT |
300 30V
AV e [l Lo
N
120V:;__ §1SQ
(a) 120 g (b) 240 9 (©) 2 9 (d) 1 e
e #, Vg 1AM §
. 20
VS_C) +
403 8V
(a) 8V (b) 10V (c) 12V d 16V

Fulshe RLC UiRaer sl afvred)/iierefores e &

1

(a) Sz+(LC)S+R/L:O (b) Sz+(1/LC)S+LR:O

© S2+@/R)S+LC=0 (d  S2+R/ML)S+1/LC=0

Tk IRTY ST § 10 A T 17 @MW & | GRUS ST bl 8 & o [0 bl e a9
HHIHTT Sl STETTHaT BT 2

(@ 7 (b) 8 (c) 10 (d) 45
=1 & & & @ g fFuives T8t € 2
(a) iRy (b) WH (c) e (d) T™RI

Y H 2 §U YR 3 U S H 10 Q AR § | 3Tk FUGed A § 5[ §T R Hl W& =T |
Hierier g
(@ 30Q (b) 100 Q () 110Q (d) T | P Tél

STARIIUT THYG G WY, ITRET GRTST 997 dieesT ol T1d i & [
(a) T YR AT SieesT Al i o R fhar STar € |

(b)  HEeT URT BT T TeAT TR fhaT ST € |

(c) et dieeST Al T oY INTY fohdT ST € |

(d) eSS | B g TR T URT B T GoAT TR T S & |
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88.

89.

90.

91.

92.

93.

9.

9s.

96.

97.

In the circuit, the maximum power that can be transferred to Load Z; is

10 Q

10 = ©) ]z

10+(2 sin(1000t) 10 mH

(a) 250w (b) 500 W (c) 1000 W (d) 2000 W

The material used for fuse wire should be of

(a) low resistivity and high melting point

(b)  high resistivity and high melting point

(c)  high resistivity and low melting point

(d) low resistivity and low melting point

It is desired to illuminate a drawing hall with an average illumination of about 250 lux.
The area of hall is 30 m x 20 m. The lamps are to be fitted at 5 m height. Find the number

and size of incandescent lamps required for an efficiency of 12 lumen/watt. Utilization
factor = 0.4 and maintenance factor = 0.85.

(a) 40 and 1000 W (b) 20 and 500 W

(¢) 60and 1000 W (d) None of the above
Battery operated scooter for braking uses

(a) plugging (b) mechanical braking

(c) regenerative braking (d) rheostatic braking

In spot welding, electric supply used is

(a) low voltage high current (b) high voltage low current
(c) low voltage low current (d) high voltage high current
In the process of refining of metals, the impure metal is made as

(a) Cathode (b) Anode

(c) Electrolyte (d) None of the above

Minimum clearance above ground of the lowest conductor of an overhead line erected
along a street for low and medium voltages as per “Indian Electricity Rules” is
(a) 4.5metres (b) 6.1 metres (¢) 6.5 metres (d) 5.5 metres

Synchronous capacitor is

(a) An ordinary static capacitor bank.

(b)  An over excited synchronous motor driving mechanical load.
(c) An over excited motor running without mechanical load.

(d) None of the above

In terms of cost, overhead transmission line is better than underground transmission line in
the field of

(a) Insulation (b) Rightof way (c) Visibility (d) None of these
Materials used in plate earthing are

(a) Wood coal (b)  Salt, earthing plate

(¢) (a)and (b) both (d) None of the above
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88. Tfwer H, stk W S AR Z, H WHING &l 1 Wehel 8, BT

10Q
() = ©O) DZL
10~[2 sin(10001) 10 mH
(a) 250W (b) 500 W (c) 1000 W (d) 2000W
89. WIST % AR o foIT UENT 8 oot U= B =ieT
(a) Y UTRIeRdT qe ST T (b) 3T UTRIYHAT TUT o oA
(c) =9 UTARILhdT 9T Y i (d) T UfrYeRdT qeT HH T

90. THdT LT BT BT TSI FA & [T SHAT AT 250 AR URIT Hl SEYIRAT § | BIeT B
ST 30 HI x 20 T & | T B 5 AL B e W ORI § | 12 TgHA/AIE i T8I & oy
fohet oIl ot T 9 AT =ET 2 SYANTAT o7 = 0.4 T TWEHE o7 = 0.85

(a) 40 dar 1000 W (b) 20 TAT 500 W

(c) 60T 1000 W (d) TTH § Hi T
91. I =ferd TheX | sk oA & JAT B &

(a) AR (b) Ttk sifHT (c) TWFasihT  (d) iRiEs sifeT
92. WZ Jeed | YA ST ol AT &

(a) 7= Srcear =2 9wy (b) 3=U dieeal = ¥R

(c) o= dicear = am (d) =9 dicedr ST °9RT
93. T3 o I[ETHIT I UHAT H, ST HIq I T ST ST ¢ 2

(a) (b) wie (c) TeiITEE (d) T W g T

94, “¥feaT TOFATTS Tow” % AR, femdll AN UX foaTE 78 7 X Tegq dcedt arell RRIAR ofreT
% FEE A & AT B Gl § SHOR FATT T ©
(a) 457X (b) 6.1 7T (c)  6.5HI (d) 5.5¥I

95,  qedehIicTed e &
(a) U ATYROT TATqeh TR 5
(b) TH ATA-ITAIT qodehiTetsh HIeT ST AT IR ht Tl Tl ¢ |
(c) U 3Ffa-SAfTa Jearehiicrss AT i fomT Fifs YR & 9T WHE |
(d) ST F B TR

96. TINT & Tt H, SR Tl olg- YT HeRoT offe § 39 63 H Jecl €

(a) THoRH (b) WTH FUER (c) TIAM d) T P T
97. iz AT T vENT R ST el aeTe

(a) TSl HIFA (b) THH, AT =T

(©) (a) T (b) 3HT (d) = 9 g T
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98. The rating of fuse wire is always expressed in

(a) volts (b) amperes (c) ampere-volt (d) ampere-hours
99. An automatic power factor controller cannot achieve

(a) Voltage control (b) kVAR control

(c) kW control (d) pf control

100. A single phase energy meter has a constant of 1200 revolution/kWh. When a load of
200 W is connected, the disc rotates at 4.2 revolutions per min. If the load is on for 10
hours, the meter records an excess of

(@) 0.1 kWh (b) 0.2kWh (c) 1.0kWh (d) 2.0kWh
101. Aluminium conductor cables can be joined by

(a) Gas welding (b) Soldering

(c) Compression (d) Thermit welding
102. From the point of view of safety, the resistance of earthing electrode should be

(a) Low

(b) High

(¢) Medium

(d) The value of resistance of earth does not affect the safety

103. The insulating fluids that are commonly used in circuit breakers is/are
(a) SFg (b)  Air at atmospheric pressure

(c) Compressed air (d) All of the above

104. Which of the following test is carried out to ensure the sufficient strength of insulation
between two or more conductors to avoid leakage between them ?
(a) Testing of insulation resistance between wiring and earth
(b) Testing of insulation resistance between conductors
(c) Testing of polarity of single phase switch
(d) Testing of earth continuity path

105. An isolated sphere has a capacitance of 50 pf. If its potential is raised to 10* volts, radius

and charge will be respectively. Given that T = 9% 10° m.
0

(a) 54cm, 0.5 uC (b)  4.5cm, 5.0 uC

(c) 45cm, 0.5 uC (d) 54cm,50puC
106. Which distribution system is more reliable ?

(a) Ring main system (b) Tree system

(c) Radial system (d) All are equally reliable.
107. HV transmission lines use

(a) Pin type insulators (b)  Suspension insulators

(c) Both (a) and (b) (d) None of the above

108. For proper earthing, what should be the maximum value of earth resistance while carrying
out the testing of earth continuity path ?

@ 1Q (b) 2Q ) 5Q d 10Q
109. The advantage of using pulverized fuel include

(a) Higher boiler efficiency (b) Easy and complete combustion

(c) Low air requirement (d) All of the above
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98. T RS ATAT H T FH TRA A & ‘ .
(a) e H (b) TR H (c) UHRAREH (d) UfmmREaH

99. T T IferT T e WeTH T & .
(a) el e | (b) kVAR o 4
(c) kW fgzor = (d) pffE=or g
100. TS THA FHeA Fofl HieX T ReriEw 1200 FuH/kWh & | 576 200 W T 9R SISl 74, at Tt i

U T 4.2 GO Ui e & S € 1 3fg IR @ 10 5 e 31 T S €, o Hiex fhar
AR il @Ud LA 2

(@) 0.1 kWh (b) 0.2kWh () 1.0kWh (d) 2.0kWh
101. TMAMIT FHrede hHisel Bl SIS ST bl &

(a) T AT §RT (b) TSR §RT

(c) HEIH W (d) affe afesT gr
102. T I 3 W, A TAFIE BT AR BT 6T

(a) H

(b) R

(c) H&EH

(d)  STHIFY HeRTE BT T TR 1 1o el Bl |
103. TrEd: TRy foedeent | v femar ST arel Hfaridt aver uere &8
(a) SF (b) SIS TETE WX gl
(c) e e d) e aHd
104, FfcIRad qetor § | A 1 GeT0T, S A7 3 ¥ A(HE eIl % ard TIere Sl AT ST 6
gFfeaa s & forr fopar strar € 2
(a) T o Yl % HeF STV UIARIe ST IXeqor
(b) TR % HET TICI VIALIe T GLI&ToT
(c) T =T feae &l T gIeToT
(d) g SAfaes=ar FT uRieTor

105. e gorapd et i GIRaT 50 pf & | A S9! faver sgree 10* aiee 3 fear s, at B wa
1

ST ST BT, fea & o 7 = 9. 10%:m
TEEO
(a) 54cm,05uC (b) 4.5cm, 5.0 uC
(c) 45cm,0.5puC (d 54cm,5.0uC
106. = G forewor goredt s9reT faveaaig & 2
(a) TGT = voTedt (b) 2 voTeR .
(c) fsaet vomet () v T e v §
107. Hv@ﬁ?mﬁmm% ' '
(@) 2T T (b) T TR H
(¢)  (a)TT (b) I 1 (d) = Y R T
108. mﬁfaﬁﬁaﬁv%fﬁm J-ITARTY ST SAIHAT A FT &A1 e ST - a7 <1 uRietor fopan
ST T &l ?
@ 1Q b 2Q ) 5Q d 10Q
109. IO EEF AN A I E
(a) 3T SR SR (b) 3T 3R YT T&A
(c) HT &I BN EATIHAT (d) &
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110. 1 Ton (unit of air conditioning load) in terms of kW is

(a) 3.5kW (b) 4.7kW (c) 12kW (d 10.5kW
111. In steam locomotive, electric power is provided through
(a) Battery system (b) Diesel engine generator
(¢) Overhead wire (d) Small turbo generator
112. Which of the following methods of heating is not dependent on the frequency of supply ?
(a) Induction heating (b) Dielectric heating
(c) Electric Resistance heating (d) All of the above

113. A single-phase AC arc welding transformer supplies approximately
(a) 100 volts at 0.35 power factor (b) 60 volts at 0.35 power factor

(c) 220 volts at 0.8 power factor (d) 100 volts at 0.6 power factor
114. Long distance railways use for their electric traction
(@) 200V dc (b) 25 kV single phase ac
(¢) 25kV two phase ac (d) 25kV three phase ac
115. Which type of motor is used for elevators ?
(a)  Synchronous motor (b)  Inductor motor
(c)  Split phase motor (d) All of the above
116. Minimum wind speed required for generating electricity in a wind mill is
(a) 15 m/hour (b) 1 km/hour
(¢) 15 km/hour (d) None of the above
117. The rotor of a stepper motor has no
(a) Winding (b) Commutator
(c) Brushes (d)  All of the above
118. The colour having shortest wavelength in the following is
(a) Yellow (b) Blue (c) Orange (d) Green
119. A synchronous motor is essentially a motor with
(a) Constant speed (b).. Leading power factor
(c)  Unity power factor (d)  Lagging power factor

120. At low values of slip, the torque of an induction motor is
(a) directly proportional to the square of the slip.
(b) inversely proportional to the square of the slip.
(c) directly proportional to the slip.
(d) inversely proportional to the slip.

121. An infinite bus-bar has
(a) constant voltage (b) constant frequency
(c) infinite voltage (d) Dboth (a) and (b)

122. If the supply frequency of a 3-phase induction motor is ‘f’, then frequency of rotor emf at
motor slip ‘s’ will be
(a) sf (b)) (1-9)f (c) fIs (d) None of these

123. If a four pole synchronous generator driven at 1500 rpm feeds a 6-pole induction motor,
which is loaded to run at a slip of 5%, then speed of the motor will be
(a) 1000 rpm (b) 950 rpm (¢) 1500 rpm (d) 1450 rpm
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110. 1 27 (STAMEAT IR B h1E) kW S STl J g

(a) 3.5kW (b) 4.7kW (¢c) 12kW (d) 10.5kW
111. W wArbmie o, e v v i st &

(a) S YOl §RT (b) TISTA o9 AN §RT

(c) PRmUR R gr (d) BT TE IR FN

112. F= 8 § &= Gt o ot fafa gwerg o argha w iR @i g 2
(a) WROT @O (b) W a™a  (c) To=gd ufaael amm= (d) 3 ot

113. U Uhel-SeAd THY, 3T Aot JHABHET TeATS Il & AT
(a) 100 e 0.35 iR TOTH T (b) 60 dtee 0.35 TfeRT OTH W

(c) 220 diee 0.8 IfeRT TOTH T (d) 100 e 0.6 TR TOTH
114. et g & Yot W forpd suor & ferw ughT 6 ST &

(a) 200V Sr4 (b) 25 KV el el TH,

(c) 25kV fg-sem Tl (d) 25kV FFenTan
115. Wﬁmumﬁﬁawmm%? e

(a) qoFs (b)

(c) ToveR e |ieX (d) TR

116. TH Yo Tl | TR ScIRH % [T =AaH arg i STevash &
(@ 15%W/Ea (b) 1fed@/Er () 15@HAHAaT () T8 FE T

117. U €W HieT & T § 72} el

(a) mEfeT (Puee) (b)  FEI (feepuftercish)

(c) O (d) T &
118. =1 H 9 Ha9 %7 T aen T

(a) drem (b) e (c) M (d) &
119. U JoshTell AT & ol Gaal 9o &

(a) =& Td FEd e | (b) ST STATHT Siferd T[T &l & |

(c) TTHI TS IfeRT T[UNEH BIetl & | (d) ST ITETH VTR O &I & |

120. T&TT % %7 A W, U1 T2 6 g7 BT ©
(a) Tt & ot & GEEET (b) T FHaT&H

(c) Teetd & FaTw (d) FeTa o SgerRETr

121. U <1 SG-AR H B § '
(a ferda@iest (b) feremm (c) 3 et (d) (a) T (b) AT

122. 7S U 3-3eTT IROT T i UG g f° &, T Hie o JUl ‘s’ W X [.ara, i g grit
(a) sf () (1-s)f (c) fIs (d) T F FHIE TEél

123. 3 wH 1500 UM W FTART ST @/ AR gAd oashelt AT Uh 6-gard WRT TeX i it
A1 8, 511 o6 5% Teera o "o & forw i €, &t |ieT &6 iq g
(@ 1000g¥M™m.  (b) 950w (c) 1500 g.m.m. (d) 1450 gmm.
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124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

Which of the following vapour/gas will give yellow colour ?

(a) Helium (b) Mercury (¢) Sodium (d) Magnesium

If the distance between the light source and the surface is reduced to half, the illumination
on the surface will

(a) reduce to half of the original. (b) reduce to one fourth of the original.

(c) increase to double of the original. (d) increase to four times of the original.

80% Ni, 20% Cr is called as

(a) Constantan (b) Nichrome (c) Kanthal (d) None of these
Electric arc welding process produces temperature upto

(a) 1000 °C (b) 1500 °C (c) 3500°C (d) 5550°C
During the resistance welding heat produced at the joint is proportional to

(a) IR (b) kVA (¢) Current (d) Voltage
Which of the following motors is used in household refrigerators ?

(a) AC series motor (b) DC shunt motor

(¢) Reluctance motor (d) Single phase induction motor

The PLC was invented by

(a) Bill Gates (b) Dick Morley  (c) Bill Landis (d) Tod Cunningham
Match the Lists L-I and L-II.

L-1I L-1I

1.  Bolometer A. Flow
2. H-Bridge B.  Displacement
3. LVDT C. Radiation
4.  Anemometer D. DC Motor

1 2 3 4
(a C D B A
b)) D C A B
¢ A C B D
(d D C B A

Which meter is/suitable for the measurement of 10 mV at 50 MHz ?

(a) Moving iron voltmeter (b).. CRO

(¢) Electrostatic voltmeter (d  VITVM
Programmable Logical controllers are the devices that were invented basically to replace
(a) Switches (b) Circuit Breakers

(c) Relays (d) None of the above
Load cell essentially is a

(a) Thermistor (b)  Strain gauge

(c) Photo-voltaic cell (d) None of these
Stranded wires are mainly used to

(a) reduce skin effect (b) reduce metal fatigue
(c) reduce proximity effect (d) both (b) and (¢)

The method suitable for heating of a conducting medium is

(a) Induction heating (b) Indirect arc heating
(c) Eddy current heating (d) Resistance heating
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124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

= 9 9 S 9@ oAy dier 37 99 2
(a) Eifermm (b) TR (c) wfeam (d) BISES

I U AT qAT Gefg % o ol g3 et Y < ST, A Tele X IEIo g
() TAF MG (b) TARMUTFAAE () FAMI TN (d) T H IR T

80% Ni, 20% Cr &l F&d &

(a) HERT (b)) T (©) Foe (d) T I HE T
ferega emeh AT ufshar & Sea= ATUHH 9T FehdT &
(@) 1000 °C (b) 1500 °C (c) 3500°C (d) 5550 °C
Ty afeeT % IR WY WX S ST ST STEhATIT el & :
(a) IR (b) kVA (c) = (d) dieest
T H UG g arel IFSReT 1 i 9t el T Bl 2
(a) AC JRIS AiX (b) DC ¥ Hex
(c) Rem=g A (d) T AT 0T AT
PLC 1 3nfashR foar mar or
(a) FTATREER (b) fewaAigR  (¢) foacifemsmm  (d) e H=m g
graar L-1 @@ L-11 &1 e &

L-1 L-1I
1. ST A.  Ua®
2. H-b= B. fo=mm=
3. LVDT C. fafsor
4,  TAHHERET D. Sg.Hqi

1 2 3 4

@@ C D B A
® D C A B
¢ A C B D
d D C B A
50 MHz WX 10 mV i 919 & ot i |1 Hiex 30 € ?
(a) T AT ATeEHET ()  CRO
(c) Ter g aredey (d) VTVM
TITHEA AR reloTd 1 STMAhR ol 9 F (68 HTaeud i o [T gaim o1 ?
(a) Tt =t (b) uRTy foresgent &l
() Tert= (d) T B T
e T e &l & T
(a) 9T (b) VAT
(c) TII-EeEEs Uet (d) T 9 @i T

T (Tfthe) ART I foeehT ST v fohat ST &, aifh
(a) ThT WIS ot Y TohaT ST 9 | (b) T &ifT T A T 5T T |
(c) THATIEH FHFN TS | (d)  (b) T4 (c) I

I Y ot =reTeh TTerm 1 T HRE % [T S € 2
(a)  UROT AT (b)  3TUTET 3T AT
(c) oI gRT A (d) ey Ao
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137.

138.

139.

140.

141.

142.

A power plant has to supply loads as follows :

12 pm to 5 am = 500 kW; 2 pmto 5 pm = 2500 kW

5 am to 10 am = 800 kW; S pm to 8 pm = 2000 kW

10 am to 12 noon = 2000 kW; 8 pm to 10 pm = 1500 kW

12 noon to 2 pm = 1000 kW; 10 pm to 12 pm = 1000 kW
Total units during 24 hours and load factor will be respectively

(a) 51.66 units, 31% (b) 31k units, 51.66%
(¢) 31k units, 33% (d) None of the above

A large size synchronous generator is protected against overloads by
(a) over current relay (b) mbho relay

(c) temperature sensitive relay (d) Buchholz relay

Earth resistance comprises of

A. Resistance of soil away from electrode.

B. Contact resistance between electrode and soil.

C. Resistance of metal electrode

(a) Aonly (b) A and B only

(c) AandC only (d) A, B and C together

When cathode is positive with respect to anode in an SCR, the number of blocked p-n
junctions is

(@ 1 (b) 2 () 3 d 4

If a forward voltage (less than forward breakover voltage) is suddenly applied across
anode and cathode of a thyristor, it may result into

(a) Damage to the thyristor

(b) Premature triggering of the thyristor because of high dV/dt

(c) Reduced holding current of the thyristor

(d) All of the above

Match the List-I and List-1I below :

List -1 List - 11
D A. GTO
017
1. S
¢ B.  Thyristor
Go—|
2. E
D C. MOSFET
G
3. S
A D. SIT
G
4, K
E. IGBT
1 2 3 4
@@ A C B E
® A B C D
¢ C E B A
d C E D A
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137.

138.

139.

140.

141.

142.

TS ek AT i FEER 9 i s € :

12 pm ¥ 5 am = 500 kW; 2 pm ¥ 5 pm = 2500 kW
5am ¥ 10 am = 800 kW; 5 pm ¥ 8 pm = 2000 kW
10 am ¥ 12 S 319 = 2000 kW; 8 pm ¥ 10 pm = 1500 kW
1295 98" 2 pm = 1000 kW; 10 pm ¥ 12 pm = 1000 kW
24 62 H Tl S q1 AR 0TI SHH: B

(a) 51.663FFe, 31% (b) 31%7?*1;??,‘51.66%
(c) 31 et g, 33% (d) TH F HiT -

TS ¢ ToIhIel ST ot TeReATS & GRET i ST &

(a) 3R e et gRT (b) I Retgw

(c) dToEM Fogt et gry (d) FHies Ret g1
J-UfeRTY o I BT &

A. 3OS U T U1 H Ay

B. Ioiogie adT 31 % ST THE AR

C. o] ToIaIE ol Uiy

(a) ot A (b) FTAATITB (c) FaAATNC (d) A, BT C

T SCR H, ST& TS &l T H HUTS ST &, A 185 p-n FASH i T& &
(@ 1 (b) 2 (© 3 (d 4

IS Th YN % TS IUT FATS o S ST oSt (ST Sehefia aieest ¥ HH) T
T S, A7 TG GROTH &1 Wehell &

(a) ITANET T ATquET & |

(b) 3= dV/dt % FROT, AR FH 7T F T4 (&R & |

(c) AN i gifeeT 4RI H HHT |

(d) SR @ |
e St 1 geli-1 7o gei-11 § faere i
| = - 10
1. JD A. GTO
G Els
2. € B.  gm@EfeX
Go—I
3. {DE C. MOSFET
G
4. A D. SIT
G
K
E. IGBT
1 2 3 4
@ A C B E
® A B C D
¢ C E B A
d C E D A
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143.

144.

145.

146.

147.

148.

149.

150.

151.

152.

The average gate power dissipation for an SCR is 0.5 W. Gate voltage variation is 2 V to
10 V. Which of the following is true ?

(a) Vg:2V, Ig:0.25A; (b) Vg:2V, Ig:0.0SA;
Vg=10V,Ig=0.05A Vg=10V,Ig=O.25A
(©) Vg =2V, Ig =10A; (d) None of the above

Vg:10V,Ig:2A

In a thyristor d.c. chopper, which type of commutation results in best performance ?
(a) Voltage commutation (b) Current commutation
(¢) Load commutation (d)  Supply commutation

For a symmetrical square wave of 800 V peak to peak and for ideal diode, the voltmeter in

the given figure will read

N
L1

@) 10 § W) PMMC

(a 200V (b) 400V (c) 800V (d) zero

The power supply whose output voltage varies with variation in input voltage or output
load current is known as

(a) Regulated Power Supply (b) Unregulated Power Supply

(c)  Uninterruptible Power Supply (d) Switched Mode Power Supply

For an SCR, dV/dt protection is achieved by the use of

(a) RL in series with SCR (b) L in series with SCR

(¢) RCin series with SCR (d) RC across SCR

SMPS are superior to linear power supplies in respect of

(a) size and efficiency (b) efficiency and regulation
(c) regulation and noise (d) noise and cost

A single phase; half-wave, controlled rectifier has 400 sin (314 t) as the input voltage and
R as the load. For a firing angle of 60° for the SCR, the average output voltage is

(a) 240/m (b) 400/ (¢) 300/m (d) 200/m
Which of the following modulation techniques is mostly used in inverters ?
(a) Pulse width modulation (b)  Square wave output modulation
(c) Both (a) and (b) (d) Neither (a) nor (b)

An IGBT has three terminals called

(a) Collector, Emitter and Base (b) Drain, Source and Base

(¢) Drain, Source and Gate (d) Collector, Emitter and Gate
A UPS commonly has following parts :

(1) rectifier (i1) inverter (i11) static switch

Which of the following is true ?

(a) only (1) (b) only (i) and (i)

(¢) (1), (i) and (iii) (d) only (ii) and (iii)
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143. fdi SCR &l A GT TE AR M 0.5 WE | T AT aRaqd 2 VI 10 Vas g I a9

HE I E 2

@ V,=2V,1;=025A; (b) V,=2V,1,=005A;
V,=10V,1,=0.05A V,=10V,I,=025A

(© V,=2V,I,=10A; (d) T 9 PIE T

V,=10V,I,=2A
144. TF AN S, AR H, {59 7R 1 KepuiRad= garay Ferme & for g & 2

(a) o fsehuREe (b) =R FpuRET
(c) W feepuiterd= (d) F=TE fEHaRe
145. TH 800 V I § MY sl FHHT PR dT T4T 3TES A & ot fod T fo # dicedied gemamm
N
L~

(1 10 § (V) PMMC

(a) 200V (b) 400V (c) 800V @ =
146. gaﬁmara?r%fwaﬁawaﬁmwaﬁ%waﬁﬁmwww%wﬁ
(:;) IS TR Tl (b) H-TIE Uik ATe
(c) IM-TRETA Gk TATE (d) TEee gis uerR Il
147. TH SCR I dV/dt G ! STl & ,
(a) SCR % #vihd H RL 51T (b) SCR & &vited | LRI
(c) SCR & 9utishe & RC g1 (d) SCR % 3IRUR RC 51T
148. TEE 9ER AE H o H, SMPS S &l § .
(a) TS TR H (b) =E US R H
(c) Foe ue e H d) vRTIEdH

149. T TheT Hedl, Sfg=ad, Tl fSehil & §9e aieest 400 sin (314 t) TMIXR FETHE |
SCR % ®ENT HIUT-60° % o1, 38 3A32Ye dlee &

(a) 240/m (b) 400/m (c)  300/x (d) 200/n
150. =1 5 | I W Aggele qo1h, T H Tad SA1ET TN & ST & 2

(a) TIE-=EE AggereH (b) EEHR T I HegeR™

(©) (a) 3R (b) (d) (a) T (b) ¥ | FIE Tel
151. T IGBT % o el sl el ST &

(a) oI, THIET 3 59 (b) A, WY A I

(c) o, WY AT (d) FHAFI, THX HX T
152. 9MRIG: T UPS & 9T &ld ¢

() AFwERR

(ii)

(i) Rfew fem

A A s T ETE?

(@ (i) (b) e (i) T (i)

() (1), (ii) T (iii) (d) et (i) T (iii)
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153.

154.

155.

156.

157.

158.

159.

; ‘){] Vo |::| Load

Vs

If o is the duty cycle type and output voltage of the chopper circuit above is
(a) stepup, aVy (b) step down, Vg
\% A%
S S
(d) Step up, -«

(c) Step down, -«
When the SCR conducts, the forward voltage drop will

(a) 0.7 V at all load current (b) 2to2.5V atall load current

(c) increases slightly with load current (d) remains constant with load current

A separately excited dc motor is required to be controlled, from a 3-phase supply, for its
operation in the first quadrant only. The most preferred converter would be

(a) 3-phase fully controlled converter

(b) 3-phase fully controlled converter with free wheel diode
(c) 3-phase dual converter

(d) 3-phase half wave converter

For an SCR with turn-on time of 5 microsecond, an ideal trigger pulse should have
(a) short rise time with pulse width = 3 usec

(b) long rise time with pulse width = 6 psec

(c) short rise time with pulse width = 6 usec

(d) None of the above

Cyclo converter drives are generally employed in
(a) Traction (b) Milling
(c) Generating low frequencies (d)  Generating pulses

In a dual converter, the circulating current

(a) allows smooth reversal of load current but increases the response time.
(b) allows smooth reversal of load current with improved speed of response.
(c) does not allow smooth reversal of load current but reduces response time.
(d) flows only if there is no interconnecting conductor.

A cyclo converter is a

(a) naturally commutated device

(b) forced commutated device

(¢) can be commutated in both manner
(d) None of the above
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153.

154.

155.

156.

157.

158.

159.

= e Vo || Loas

Vs

I T2l ATEieht o 2, @ F0 58 IfaY aiuer s JhR a9 3M3eye e
(a) U A, oV (b) U, AV

v v
> d) =am,—

(c) TU =,

1-«o 1-«o

S SCR AT I &, ol IHhT 3T aieedT ard

(a) TN IR GRIW 0.7 VBT | (b) TN IR GRIW2H 2.5 VENT |

(c) YR 4RI % H1 4ieT §1 S | (d) YR 4R % 91 2 @ g |

T JUF A S, T B hael VT FIqIe § B A &, Th bl Iwie ¥ e

FIATE | G 3ok UG el BT

(a) -l gul fEfa Fae

(b) Fr-eiia qoT Fata el i =it SEe & 9y
(c) M-=cia 3Tt HaeX

(d) F-=clF 3TF T HaX

fohet SCR 1 1 319 qHY 5 HIEshl YhUS &, T MY &R I et
(a) H TS 2TH F WY Io FISTE = 3 [sec
(b) T ST 2T2H & T ToHd HIETS = 6 psec

(c) Y IEST 2EH &% AT Uoq IIEE =6 Usec
(d) ST d W HE TR

HgarAl e Qgel WA T fohd STt &

(a) HUTH (b) e
(c) T MGl ol ST~ HH H (d) =] B AT HA T
TS T3t IR H IREER R

(a) YR 9RT T A TGORIcIeR0T ST 7, fohe] WiATshan 9 o1 9@l ST & |

(b) YR URT HT TTH TAURIAHIOT HT & 3T AfaTshar i 1id H TR AT & |
(c) R 4RI & G fqudiciieseor Fet s, o Hfafshar Tma il 7 FHT AT ¢ |
(d) Hact T Teclt & STET BT I TEg eI 7 & |

Teh STl Hroled & Th

(a) oYl HHgLS g (b) STRA FFLLE Fferd
(c) THIRE q FEE M ST IHATE | (d) T F IS T
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160. The separately excited dc motor in the figure below has a rated armature current of 20 A
and a rated armature voltage of 150 V. An ideal chopper switching at 5 kHz is used to
control the armature voltage. If L, = 0.1 mH, R, = 1€2, neglecting armature reaction, the

duty ratio of the chopper to obtain 50% of the rated torque at the rated speed and the rated
field current is
N/

B e
() 200v La Ra

(a 04 (b) 0.5 (c) 07 d 0.8

161. An open-loop system is better than a closed-loop system in terms of
(a) Accuracy (b) Stability (c) Noisereduction (d) Sensitivity

162. A CRO cannot be used for direct measurement of
(a) Voltage (b) Current (c) Frequency (d) Power

163. The cycle time of a PLC is the time it takes to
(a) read all the input signals.
(b) read all the input signals, run the program and update outputs.
(c) read an input signal.
(d) check all the input signals against the program.

164. The thermocouple pair that gives the maximum sensitivity around 273 °k is
(a) Platinum — Constantan (b) Nichrome — Constantan
(¢) Nickel — Constantan (d)  Copper — Nickel

165. An inverse transducer converts
(a) electrical energy to any other form of energy
(b) electrical energy to light energy
(c) mechanical displacement into electrical signal
(d) electrical energy to mechanical form

166. Optical Pyrometer 1s used to measure

(a) Light Intensity (b)  Low Temperature

(c) High Temperature (d) Light Intensity & High Temperature
167. Horizontal deflection plates of CRO are placed generally

(a) Horizontal (b) Vertical (c) Diagonal (d) (a)or(b)
168. A controller essentially is a/an

(a) Amplifier (b) Sensor (c) Comparator (d) Clipper
169. Programming Languages for PLC is/are

(a) Ladder Diagram (b)  Function Block Diagram

(¢) Structured Text (d) All of the above

170. To measure insulation resistance of equipments of voltage rating upto 440 V the megger
generator must generate
(a) 220V (b) 440V (c) 500V (d) None of these
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160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

e fot | SF 7TE, U geh ®9 ¥ ST SLAL HieT i 1T SHW GRT 20 A € T7 LT AH
AT 150 V & | SR aeest & (it s & fow 5 kHz W fafa a2 @ omeel 9w &
T T e 1AL, = 0.1 mH TR, = 1Q =R UiHaT i SUeT Hf 9=, ¥ &8 M

TS 3T hiee IR W LT FUT H 50% T & foTd =R 1 g2 3Fard e

\/
T \
Ct 200V L, R,

(a 04 () 0.5 (c) 0.7 d 08
TS GAT-TYT JUTTEAl U S5-9197 IOl § 56 9y | 98K &
(a) Tar (b) ferar (c) R H HA (d) HogAeTerdr
CRO ¥ 919 & |17 S Hehell &
(a) d@eesT (b) & (c) omgr (d) v

T PLC &1 9% §0 98§73 ¢ W I8

(a) @ 3T kel h1 T & | .

(b) T ST Wehdl T UG &, UTUTH =l TATT qT FHTaT i 3TISE AT & |
(c) U 3TN Tehel I T ¢ | .

(d) T ST Tehall T T T Flel H S § |

273 °k o T AIEH TR DI TT A9-o=T I Tod e Torgsier & ?
(a) TATETH — BT (b) ThIA — SiE=A

(c) ToeT — P (d) =R - FFHaA

Y g e aRerd e €

(a) T St o1 St o Fopelt oFT WU (b)  TeTe S B T St
(c) aitrer oo ot o e o (d) TorRpa St Bt AH &9 H

TeRTSI STTTHTAT <Al JRNT &3t &

(a)  VIRIST ST lerdT A9 (b) = AH BT 7O |

(c) =9 ATIH i AT H (d)  THTST S o aT ST ATHT Bt WO |
CRO #! &fasT faeiuor wid qrer=d: @i St &

(a) &fas (b) FEMER OBRGEED (d) (a) 3@E (b)
T 8% qoAd: &

(a) VEH (b) TaTH (c) TqoHHRI (d) FHRE

PLC % {oTT S%HTeT 819 STetl TITEnT ot 878

(a) o MG (b) THRM s NG

(c) WHS IR (d) T I

440 V T HI AT a6l ITFIUN 6 TGeIeH UTeRTE Sl A0 & o0 TR ST Bl SR BT

TTTF &
(@ 220V (b) 440V () 500V (d) T I HE T
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

Lissajous pattern obtained on a CRO screen is a circle. Frequency of two signals are

(a) Equal (b) Unequal (c) Zero (d) Infinity
Indicating instruments should be

(a) undamped (b) critically damped

(c) over damped (d) under damped

A megger is to measure insulation resistance of a cable. The cable should be connected to
(a) Battery (b) DC supply (c) AC supply (d) No supply

A strain gauge is a passive transducer and is employed for converting
(a) Pressure into change in resistance

(b) Force into displacement

(c) Mechanical displacement into a change of resistance

(d) None of the above

A megger is basically a/an
(a) Moving iron type instrument (b) Moving coil type instrument
(c) Hot wire instrument (d) Electrolytic instrument

The dynamic characteristics of capacitive transducer are similar to those of

(a) Low-pass filter (b) High-pass filter
(¢) Notch filter (d)  Band-stop filter
The insulation resistance test is performed on power lines with
(a) ohm meter (b) earth tester

(c) megger (d) Any of these
Piezo meter is used to measure

(a) Very high pressure (b) Very low pressure
(c) Displacement (d)-. None of these

Which of the following devices is used to measure flow in an open channel ?
(a) Venturimeter (b)  Rota meter
(¢)  Orifice (d) Pitot tube

The ladder diagram for the circuit shown below is

. T 1
L s Rasrd
Battery _'__Tm

@ |
© |

z
S
S

O O
O O

—
o
=
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171. T CRO & U W I feTISIg Ued Ush g € | &1 Fqrieti i 3mgia it

(a) THIHEH (b) 3EHA ) TH (d) o=a
172. SfesHien SusTor AT =fen
(a) 3T-3EmiEd (b)  hifdehd: 3TaHEd
(c) 3 sTamifed (d) W IFemiEa
173. T W 1 Ush Shisfet 1 SN UfcRe 01 & | shisfet i b Stret s =few 7
(a) s (b) . T  (c) TH. @I (d) I @A &l

174, T A 1S U M5 TREIHX € 37X THe1 T fohan e &
(a) T Pl UCRIY TR H 98e & [T
(b) T I T | FEeH & feTT
(c) Tifrer foreamos &t ufery aRad= | s % forw
(d) SR H 9 BT TRl

175. T R UF: ear &

(a) Toree wrE STl (b) T FUS SUERT
(c) T T ST (d) fomE srmEe suwo
176. Hufaica AT i fsharcHs SCEITS e o Sl &
(a) A fheeX (b) erE-ur ftheey
(c) = ftheex d) e frex
177. WeR olet W forgeRiet wfad ottt e 9 9 ferad foham S € 2
(a) 3THHIX (b) a1 o%T
(c) ™R (d) = 9 e @ o
178. Tusiidie? fwd 1o & ford o fohan i & 2
(a) i 3=a 31 (b) TEAFATE
(c) o (d).. TTH 9 PIT Tl
179. Teit et | S8rd S 9 & o (e | ¥ 6 gfe b1 v fohat St € 2
(a) S (b)  TrerieT
(c) SARIwH d) foete =t
180. =< g9 T U 1 e ARG B ¢
e FTTTT oo 1|
IL [ :o/oi
e CITIT
@ HI o— v HA—U O—
© I || Oo— @ H ¥ O—
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